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Time: 3Hours Marks: 200
I nstructions:

(i) Eachquestion carriesone mark.
@8 D5 w8 Srdy, Sod.

(i) Choose the correct or most appropriate answer from the given options to the following
guestions and darken, with blue/black ball point pen, the corresponding digit 1, 2, 3or 4
in the circle pertaining to the question number concerned in the OMR Answer Shest,
separately supplied to you.

BHS5 ANS BS HHSD SRS TEST HBGNG JIFPTIBNK YT A Do
o8 1, 2,3 88 4 Jdom aQ)d OMR d8res Hghns® ©d) Dopgd Addm Ko
B020088 DL wT/erf S P00l ) GIRrHD J0HSBL0.

1. Thedigitintheplaceof » sothat the number 223x431 isdivisibleby 9is
domg 223+431 & 95\’)7590“10(?" eTPAOTIET I8 * @C;«‘Soej‘ GOo%I0VS ®os
1) 3 (2) 4 (3 5 (4) 6

2. Thenumber of termsinthe sequence 2, 4, §, 16, ...., 1024
OEDS 2,4, 8, 16, ..., 1024 &° Hore Sopg
1) 7 (2 8 3 9 (4) 10

3. If onethird of the onefourth of anumber is 15, then onetenth of that number is

2.8 Do TPeuld H$oes® Hords S0y 15 w0, & Dopges® HEH Hod
(D) 12 (2) 16 (3) 18 (4) 22

4. Thelargest four - digit number exactly divisibleby 88is

88 3 pdSomr grhodad Treoiosy K0% dopg
(1) 9944 (2) 9768 (3) 9988 (4) 8888

5. If theH.C.F of three numberswhich areintheratio 1:2:3is 12, then the numbers are
1:2:3 IQBS® &) Soecdo dopge d.dr.er 12 @008 & Hompgen
(1) 12,24, 36 (2) 11,22,33 (3) 12, 24,32 (4) 5,10,15

6. Theremainder when 67%9isdivided by 7is
6792 78 ol S5y o
(1) 4 (2) 6 ) 1 (4) 2

7. Thenumber which does not suit in the sequence 8, 12, 18, 26, 38, 48, 62is
wEso 8,12, 18, 26, 38, 48, 62 &° H0Q dopg
(1) 18 (2) 26 (3) 38 (4) 48
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1

8. If 1,%(44339+x?)=3879, then thevalueof xis
ix(44339+x2):3879 w008, X Dend
12
(1) 43 (2) 57 (3 37 (4) 47

9. TheL.C.M. of two numbersis 495 and their HCF is 5. If the sum of the two numbersis
100 then their differenceis
Bod Dopge E.ar.id 495 Ho0csn 78 H.3r.er 5 e Bod dopge Iwgo 100 wownd,
& B0
(1) 10 (2) 46 (3) 70 (4) 90
6 = 22361, = -

10. /5 =22361, /3 =17321 = NN
(1) 1.984 (2) 1.9841 (3) 198 4 2

11. A sum of Rs. 7,200 amountsto Rs. 9,360 in 6 years a a certain rate of simple interest.
Theamount, if the rate of interest isincreased by 4% is (in rupees)
08 e 26(?3 Benes® 87,2000 6 doddores® S 9,360 Ingo wHSok. e
$5G0enso 4% o8 $3) Ingo (Srarches’)
(1) 10,080 (2) 10,880 (3) 11,088 (4) 12,880

12. Thepresent worth of Rs. 132 dueintwo yearsat 5% smpleinterest per annum (inrupees) is
Boch Dodorees® 5% rerden 26%@6 8. 132 oo @o‘:’bg @*’:533& B0 Dend (Eraraes®)
(1) 120 (2) 122 (3 112 (4) 118.80

13. A person borrowed asum of money with smpleinterest asgiven below:

(i) 6% per annum for thefirst three years

(ii) 8% per annum for the next fiveyears

(iii) 12% per annum for the next four years

If he paid atotal interest of Rs. 4,240, the money he borrowed (in rupees) is

Fod S0y a8 $58 & 8od Do Ferdee é%é e&ééog\)a:lcéo
() o8 Horchd DodForos® JHodd) I8 6%

(i) ST pd doS&orees® HodHTI8 8%

(i) & SSad el Jodd)oros® Jodd)ordd 12%

wEH 5§ Srnmr Ingo S 4,240 w0 DO, ©E5 BLKN) WIy (Erarches’)
(1) 3,000 (2) 3,500 (3) 4,000 (4) 4,050
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A shopkeeper gives two successive discounts of 10% and 20%. If he sellsan article for
Rs. 432, then the marked price of the articleis (in rupees)

w8 $oseeaady 10% Ho8cs0 20% 5600 crondeds urydy. wE e 38998

S 432 %0 @é’bé}é, e S RE), PEBE Jend (Srnees®)
(1) 526 (2) 550 (3) 600 (4) 626

15.

1
Two equal sums of money were invested, one at 4% and the other at 45 %. Attheend of

7 years, if thesmpleinterest received from the later exceedsthat received from theformer
by Rs. 94.50, then each sum was (in rupees)

1
w8 I8 4% THYS, HFET 8 45 % O3S Bodh dIrS Inveody DERd DET.
7 do10 TS B0k 080 nS 5%(‘6 8 5%, [068 TR 26:3)(3(‘6 CS"X)é:U‘Q &Soe.

94.50 Qs’\azfzéooaé, w8 &) Bngo (Srarohed’)
(1) 2,600 (2) 2,700 (3) 2,700.50 (4) 2,685

16.

9
The simple interest on asum of money is 2 of the principal and the number of yearsis

equal to therate percent per annum. Thentherate per annumis

9
§od 0o I :Scfg o ©¥dHenes® Zzé 508, o8B0 doddyore Sogg, D05&o8

5% PSP Dopgs” H8rSo. @ond HoS5H)T8 25%
(1) 10% (2) 12% (3) 13% (4) 15%

17.

The difference between the compound interest and ssimpleinterest at the rate of 14% per
annum on Rs. 5,000 for two yearswill be (in rupees)

&n 5,000 07 5058y0°08 14% 938 Bodo doIS\orose zﬁ@é% S0BAs s 55’3&3
Sogg Sgergdo (B Frcoees?®)
(1) 98 (2) 86 3 72 (4) 88

18.

P11

A person borrows Rs. 3,200 to be paid back with compound interest at the rate of 5% per
annum by the end of 2 years in two equal yearly instalments. Then each instalment
(inrupees) is

w8 58 doon 3,200 o $058)0°08 5% é@é%é B0k H0I&)Tr S Bok DTS Fendd
TONT M &8A 'az':i)éoéog SR @éo&s:lcéo. @Y w8 TonT I0go (Srardheos®)
(1) 1,764 (2) 1,880 (3) 1,894 (4) 1,924
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1
A treeincreasesannually by = thof itsheight. If it standstoday at 125 cm., thenitsheight

after 2 yearsis (incms.)

1
w8 By P8 J0I3H 5 T IS £ 08 NS08, T (PEY IF

5 —0
125 200.00. @028, 2 Jod)ore SHTE T 28y (0.0.08°)
(1) 160 (2) 170
(3) 180 (4) 185

20.

If acertain sum of money at compound interest grows upto Rs. 12,960 in 2 years and upto
Rs. 13,176 in 3 years, then the rate of interest per annumiis

§0o¢ @“:633& zﬁ@é%@s 2 J038y0res” dooi 12,960 8 Sodadn 3 doddores® doeon 13,176
©8 BAB, HoSHT°8 5% B0

1 ZEO/ 2 220/ 3 1l°/ 4 120/
(L 25% @ 25% (3 13% (4 15%

21.

The time for Rs. 1,000 to amount to Rs. 1,331 at 20% per annum, compounded half -
yearly is(inyears)

8 H05E)0"I8 zﬁ@&’)% RES K)C(gé’QeS“‘ D058)0°08 20% Bend® vn 1,000 Iwgo Son 1,331
¥5rd8 D s (DosgTes?)

1 11 2) 1 2 4 21
W 15 @) ®) @ 23

22.

Two numbers arein theratio of 11:13. If 12 is subtracted from each, the ratio becomes
7:9. Thesmaller number themis

Bo domgen 11113 IRBS® Gamon. e, T Hod 12 81T Y, » g 79
©YS08. TES” AJ) dowpg
1) 11 (2) 22 (3) 33 (4) 39

23.

P11

The sum of three numbersis 186. If theratio between thefirst and second is 2:3 and that
between the second and third is 7:9, then the second number is

Soxcdo Dopge Ingo 186. F00¢5¢3 oo Dopge Hodsg AN 2:3 L0850 B0k, S
Ddopge Hodsg NG 7:9 ©0208 Bokd dowg
(1) 53 (2) 63 (3) 58 (4) 68
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Thepriceof ascooter and atelevision set areintheratio 3:2. If ascooter costs Rs. 10,000
more than the television set, then the price of the scooter is (in rupees)

w8 Jo) 6 oo BOJeS (television) & S QX8 312 do o $8 BOJsS §8
gan . 10,000 Qs’\azféoooé, ©Yd S b §8 (Erios?)

(1) 30,000 (2) 40,000

(3) 45,000 (4) 50,000

25.

When 30 percent of anumber isadded to another number, the second number increases by
20 percent. Then theratio between thefirst and second number is

w8 Jopges® 30 B0 R08E Dopgdd 008, & BodS Sopg 20 80 NS08, &
300¢5¢3 $08050 B0 Jopge IS

(1) 3:2 (2) 2:3 3) 25 (4) 3.5

26.

If X:y=3:4,then(7x+ 3y) : (7x—3y) =
X:y=3:4o008, (7X+3y): (7x—3y) =
(1) 5:2 (2 4:3 3 11:3 (4 37:19

27.

The studentsin threeclassesareintheratio 2 : 3: 5. If 40 students areincreased in each
class, theratio changesto4: 5: 7. Originaly, thetotal number of studentsis

Sordd SBRE0S” Jagien 2131 5RPGS” . .8 &) S6H8S” 40 H00d dTgdhen
AR H5008 & QG 4:5: 7T $5&08. 0K &) Jogo darghe dopg

(1) 100 (2) 180 |

(3) 200 (4) 400

28.

If ab=cd=ef=12then(pa+ qc+re):(pb+ qd+ rf) =
ab=cd=ef=12w00a (pa+qc+re): (pb+ qd+ rf) =
1 1:3 (2) 1:2 3 2:3 4 3:2

29.

P11

A pipe of diameter ‘d’ can drain awater tank in 40 minutes. The time taken by a pipe of
diameter ‘ 2d’ for doing the samejob is (in minutes)

Fgddn ‘d o el FQS» w8 d¢) £EJ 40 dres® 08 Tdyod. @B HJ BaHerds
2d" argdon e 8 c“o§ D300 (AoTrees?)
(1) 5 (2) 10 (3) 20 (4) 50
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1
A pump canfill atank with water in 2 hours. Because of aleakageit took 25 hourstofill

thetank. Thetimetaken to empty thefull tank dueto leakage (in hours) is
08 Sogron 2.8 SEI ABE 2 Honwes® Jodrodd. & &@8 &) o8 d88 Swroom A

1
Q0HETE 25 oo HZob. & 8By Jokd &¢ P I8 HF H%oa%0 (Kobves®)

(1) 8 2 7 (3 10 (4) 14

31

2
A water tank is gthfull. PipeA canfill thetank in 10 minutes and pipe B can empty it in

6 minutes. |f both the pipesare open, thetimetaken to empty or fill thetank completely is
(1) 6 minutesto empty (2) 6 minutestofill
(3) 9 minutesto empty (4) 9 minutestofill

2
w8 8¢ §¢ T wrfio 0 @od. Fyin AID 10 Ao’ JoBHKONE, M

B & 6 0o’ 50® Bobrentodiod. Bok Fiper 800 ¢odd « &8 rom 5
®S5Er8 M BE FrYm JosdE 8 M HF Do

(1) 978 ©5¢rd8 6 duexd (2) Qo&erds 6 duew

(3) & ©5¢rd8 9 duen (4) Q0&erd8 9 Juen

32.

The average price of 16 different booksisRs. 18. Whilethe average price of 14 of these
booksisRs. 16.50 and of the remaining two books, if the price of oneis50% of the other,
then the price of these two booksis (in rupees)

1633560 Yz e P8 . 18 S 14 HIsre Hifen s &, 16.50 $obas
ADS B0k YJTPoS® w8 T 8 Bokd o §8° 50% ©wod, & ok JIze &8

(BrroSoees®)
(1) 13,26 (2 17,34 (3) 19, 38 (4) 21,42

33.

P11

1 1
If theaverage of xand ~ (x # 0) isM, then the average of x2 and ? IS

1 1
X$0050 (X 2 0) © 5t M ®o0d X2 H55805%0 2 Dieas
(1) 1-M?2 (2) 1-2M (3) 2M2-1 (4 2M2+1

8-A
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Theaverageage of 28 studentsof aclassis12 years. If their teacher’sageisincluded the
average ageincreases by oneyear. Thenthe age of theteacher (inyears) is
08 SEHBSA 28 008 dTrgdhe Hiftn Fa%d0 12 Hodd)oren. T8 rarergoind $9%H0
8008 & dKdn &8 K)oééé(\)éfo DOHE0H. @PB & GIFHINA S0y (dones?)
(1) 41 (2) 40 3 39 (4) 38

35.

A batsmanin his 12" innings, makes ascore of 63 runsand thereby increased hisaverage
scoreby 2 runs. The average of hisscore after 121 inningsis

28 @S 83 125 al)orys® 63 Hbres B, 5 A6 dKtnd TISY 2 BSoren
DoFINE. & 125 adyof) SHTE 98 St YD

(1) 42 2) 41 (3) 35 (4) 34

36.

The average of 9 numbersis30. If theaverage of first 5 numbersis 25 and that of the last
3 numbersis 35 Then the 6" number is

9domge Hen 30. s Sdomge Hftwn 25 Ko8asn DH0 3dopge drtn 35wond,

65 dopg
(1) 20 (2 30 (3) 40 (4) 50

37.

Out of three numbers, thefirst istwicethe second and ishalf of thethird. If the average of
the three numbersis 56, then the difference of the first and third numbersis

Soorchy Dopgee” B0l dopg BoddmrA8 Bobodear BN Hordd rIS® dKo. &

S03&0¢E3 HK5en 56 ®ond 00 K)ogpg 0080 Horddd K)oaogea 253653 Erfnfe)
(1) 12 (2 20 3) 24 (4) 48

38.

Inan examinationitisrequired to get 40% of the aggregate marksto pass. A student gets
142 marksand isdeclared failed by 18 marks. The maximum marksof theexaminationis

2.8 HOES® BBRUESETrIS Ingo Sy, 0eS® 40% Srdy e T°ord. .8 Jorgd 142 Sy eo

Fod 18 Srden S5y 5000808080 S0ydn HEG0T . & HOEK KB Sordy e
(1) 600 (2) 400 (3) 460 (4) 520

39.

P11

The population of atownis1,54,000. Itincreasesby 5% during thefirst year. During the
second year it decreases by 10% and increases by 10% during the third year. Then the
population of thetown after 3 yearsis

8 é%sooe.ﬁ“&) aarer 1,54,000. 3008E S058)80e5° @& 5% A0k, Boks DoddSoes®
08 10% $f oo Sorids Hod8)E0S” 10% HoA0E. Sordd Jdo&)ore Sard & D
2BI°Y

(1) 1,61,700 (2) 1,60,700 (3) 1,60,083 (4) 1,70,062

9-A
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A number x isincreased by 30% and then decreased by 30%, then the number x

(1) Doesnot change (2) Decreasesby 6%
(3) Increaseshy 6% (4) Decreasesby 9%
w8 Jopg XS 30% o, sars 30% Bhowrdd. & Jopg X

(D) LS80 (2) 6% shod

(3) 6% 08A0d (4) 9% shob

41.

One side of asguareisincreased by 20%. To maintain the same area the other side will
haveto be decreased by

SEBRY 8 o 20% Dowrd. ©d DT OO 0KErA8 T Bo&S @w&)@l égoﬁéoi’oé&

2 2 1 1
(1) 163% (2) 143% (3 13% (4) 145%

42.

Two numbers are in the ratio 5:4. If 40% of the first number is 120, then 60% of the
second number isequal to

Bockh dopgen 54 INBS® wamon. 120 I0088 Jopges® 40% ®0o8 oS SogpgeS’

60% & S5r$TS6
(1) 124 (2) 134 (3) 144 (4) 156

43.

In an examination there were 640 boysand 360 girls. If 60% of boysand 70% of girlswere
successful, the percentage of failurewas

08 H08S* 640 508 erendd, 360 $o0d erdfen o). 60% erendd $o8as0 70%

O B8RO, EHS 8 TEo
(1) 36.4% (2) 35.4% (3) 32.8% (4) 35.6%

A person gave 20% of hisincome to his elder son, 30% of the remaining to the younger
son and 10% of the balance he donated to atrust. If heisleft with Rs. 10,080. Hisincome
(in rupees)

08 $38 S8 emraos® 200 g Ho5508, DAY ST 30% D) SIS Q)
205 WHOS AS® 10% 2.8 LS Trdo V. w8 $§ 205 Sen 10,080 ndS,

WS B$TO0IN (Srrasees?)
(1) 50,000 (2) 40,000 (3) 30,000 (4) 20,000

45.

P11

The difference between a discount of 35% and two successive discounts of 20% and
20% on acertain bill isRs. 22. Then the amount of the bill (in rupees) is

w8 deap 35% 0Po0B8 L0805 BodS S8D oronden 20%, 20% e 50658 BSo S 22

WONS & DN DN Jndo (Errohos’)
(1) 1,100 (2) 2,000 (3) 2,200 (4) 2,640

10-A
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A sellsahouseto B at aprofit of 12%. B sellsitto C at alossof 10% and C sellsitto D
for Rs. 21,44,520 making a profit of 15%. The cost of the house for A (in rupees) is

A 28 208 B8 12% orerd8 wdormych. Bardd 10% Sapd8 C 8 $o8asn Cardd 15%

erefo 55{3@ D 8 &> 21,44,520 8 o5y, A e 2089 §8) Io (SrradH o)
(1) 20,00,000 (2) 18,50,000 (3) 25,00,000 (4) 22,50,000

47.

A trader sellsan article at aprofit of 30%. Had he sold it for Rs. 352 |less, hewould have
gained 20% only. The cost price of the articleis (in rupees)

2 $5%% w8 S0H% 30% orerds elmd. wEH TAY &r. 352 S5 vy

&0 @38 20% SrERo ereo S 038, & I §&) &8 (Srarahos’)
(1) 3,520 (2) 3,580 (3) 1,560 (4) 1,700

48.

A man bought 6 apples for Rs. 24 and sold them at 4 apples for Rs. 20. His profit
percentageis
w8 358 S, 24 0% 6 Brdhdoln §J, & 20 0 4 dSrhden TP ©ITYE. S

g IS0
(1) 25 (2 30 (3) 40 (4) 50

49.

A shopkeeper sold two pressure cookersfor Rs. 1,800 each. On one he gains 30% and on
the other he loses 25%. Hisgain or loss percent in the whole transaction is

(1) 488%Loss (2) 4.88%Gan (3) 3.74%Loss (4) 3.74%Gan

0.8 $570r 8 ok (RS 58 w8 H & 8. 1,800 ok olrii. o8 7D @88
30% erefo oo Bodd oA 25% {0 $D)0d. & INGo TBIS” wEIE EOAS ergo
BE $R0.

(1) 4.88% Sgo (2) 488%erzo  (3) 3.74% $Ho (4) 3.74% ereo

50.

The profit earned by selling an article for Rs.832 is equal to the loss incurred, when the
same articleis sold for Rs. 448. Then the sale price of the article for making 50% profit
should be (in rupees)

a8 S0P &r. 832 0% vl SNS ergfo ©f SHPH & 448 0B vl SO)S

$H08° ddrSo. @ond 50% ergfo o°Herds o ©508Y e (Sraradoees®)
(1) 920 (2) 960 (3) 1,060 (4) 1,200

51

P11

If gross profitis 34% of the selling price of an item and x percentage of itsselling priceis
equal to 25 percentage of its cost price, then x =

8 Y A8Y wrelo @3&&(‘6 J0e® 34% von wod S8 T @é’)og‘é J0S® X S50,

§5) 30¢° 25 TE5nss $5r35m wond X =
(1) 154 (2) 165 (3) 17 (4) 183

11-A



52.

FRESHERS NOW

P-1 Booklet Code | A

A sdllsapillow to B at aprofit of 20%. B sellsitto C at aprofit of 25%. If C paysRs. 243
for it, the cost price of the pillow for A (in Rupees) is

20% ereed8 A 208 &odod B 8 e:a:éov&céo. B o 25% emerd8 C 8 @w&céo. o8 C

&r. 243 DO A e Bokd §8) Jo (Srrahed’)
(1) 150 (2) 160 (3) 162 (4) 173

53.

Inaclasshaving 40 boysand somegirls, the average ages of boysand girlsare 13.5 years
and 13 years respectively. The average age of the whole class is 13.4 years. Then the
number of girlsintheclassis

405008 237208 5088 erdgen EOAD 2.8 SEKAS® erend $0000 erdde Hidn Hoddoen
Sdm 13.5 JodEoren Hdsn 13 Doddoren. Ingo SEHE RBE), it S

13.4 Jod&)oren. @Y & SSHBS'A rd8w dowg
(1) 10 2 11 (3 13 (4) 20

4.

Ratio of present agesof Pand Q are 7:3. After four yearstheir ageswill beintheratio 2:1.
Then the present age of P (inyears) is

P%08050 Qo X8 Icdoe QG 7:3. srenr Joldore $o7d o0 Sadow XS
2.1 ©)B008. @i PRng) @8 Sod (doddoros)
(1) 24 (2) 28 (3) 30 (4) 32

55.

The product of two positive numbersA and B is240. If twice of B ismorethan A by 4,
thenB is

S8 Homgen A Sodasn B e oxo 240 B 8 3o AT 40595 @ons, i B
(D) 12 (2 20 (3) 10 (4 14

56.

Four persons can reep 12 acres in 10 days by working for 9 hours aday. The number of
hoursin aday that five persons haveto work in order to reap 16 acresin 8 daysis

S Sg8en 12 d¥ore Doty Sardy 9 Kot FTHS HAVD 10 Seres® SFabrod.
I $g83e0 16 8T Hotio 8 Feres® Faireos Gwrdd HAVATO)S Kote Dowg

(1) 12 (2) 10 (3) 9 (4) 8

S7.

P11

A cando apiece of work in 4 hours. B and C together take 3 hours, A and C together take
2 hoursto doit. Thetimetaken for B to complete the work is (in hours)

A a8 5 4Kotoes” Bodted. Bodain CEOD & HAQ 3obrees o, Adodasn CEdd

& 5D 2 Hob ot Borek. & HAY Gro BahmdE B BRES soaho (fobed)
(1) 10 (2) 12 (3) 8 (4) 9

12-A



58.

FRESHERS NOW

P-1 Booklet Code | A

A contractor undertook to finish acertain work in 124 days and employed 120 men onit.

2
After 64 days, hefound that he had already done 3 of thework. Thenumber of menhecan

discharge now so that thework may finishintimeis
08 HBTH o8 HAIJ 124 FereS g Bohmd8 ©ohEdod, wokdrse 120 Hood

2
380 HIS'8 Bhosom)d. 64 Sere Sogs 526 3080 H FrGo0E BLOLET)E.

&)g)%é ISINVIOVOL ISRV IR o) B30I E0 é@oiﬁ:ﬁoi’o(‘é DAT°0 éogpg
(1) 24 (2) 56 (3) 64 (4) 80

59.

A and B undertook to do a piece of work for Rs. 4,500. A alone could do it in 8 days
and B alonein 12 days. With the assistance of C they finished the work in 4 days. Then
C’sshare of money is(in rupees)

A 508050 B &>, 4,500 2.8 5 BoHm8 e.d380a%. & DAY ASrgh 8 Swres”,
B Srigd 12 Swres® Bohied. C R 3550008 8 4 Serd: O g 3.
©IPE E9)S” C B ot (Srarahed’)

(1) 2,250 (2) 1,500

(3) 750 (4) 375

60.

Seven young men and four boys can complete awork in 6 days. A young man completes
doublethework thanaboy inaday. The number of daysthat five men and four boysrequire
to completethework is

QBN G058, S0 reodd 8O wl HAJ 6 Ferd Hrf Wohrw. Swed
0y B HD8 BEJow) HA e¥ cBHBk B, PR 030580, FLORK et

© DY Y VOO sH0dS Sare Doy

54
(D 5 (2 4 (3 6 4) —

61.

P11

A circular wireof radius21 cmiscut and bent in theform of arectanglewhosesidesarein

22
theratio of 6:5. Assuming t = = the area enclosed by therectangle (in sq. cms) is
Fgrgsn 21 Do.ven o wf Sesd 858 88000 6:5 ARBS® hewren Ko of
22
B Lo Sowrdo. T = = ©505008, & B IS0 HdEIS JTogo

(3. 200.20 ©¢?)
(1) 540 (2) 1080 (3) 2160 (4) 4320

13-A
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FRESHERS NOW
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A rectangular paper, when folded into two congruent parts had a perimeter of 34 cm for
each part folded along one set of sidesand same is 38 cm when folded along the other set
of sides. The area of the paper is (in sg. cms)

28 BEBHORY RS Tok JEGHEFS erream el w8 o 3 HENSHYE
w8 &), D) SinFeod 34 Do.dowd M, HORWE 28 here ) HEDISYHR ©B
38 o.doenrdd GH)8. & A0 ITOL0 (5. 200.0.¢5°)

(1) 140 (2) 240

(3) 560 (4) 360

63.

The side and one of the diagonals of arhombus are 13 cm and 24 cm respectively. Itsarea
(insg.cm) is

w8 380 FES:) ez $8a50 DEYHw HHdM 13 200.2000 K08050 24 00.20.e0.
T IT0Fo (5.20.0.0¢°)

(1) 156 (2) 240 (3) 120 (4) 130

64.

Thesidesof atriangleare3 cm, 4 cmand 5 cm. Thearea(in cm?) of thetriangleformed by
joining the mid-points of the sides of thistriangleis

w8 @800 gharen 3 0.0, 4 0.0 08050 5 0.0 eo. & @80 here D¢y
DocoPos OB IT) BFDY ITogo (BNRo.a0.0S°)

3

3
(1) 6 @ 3 ® 5 @ 5

65.

Two persons undertake to do apiece of work for Rs. 1,200. Oneaonecoulddoitin 6 days
and the other in 8 days. With the assistance of aboy they finishitin 3 days. Thedifference
between the shares of the two persons (in rupees) is

QS Hg8en w8 DA 8. 1,200 08 Baerds edyEoath. F°0S° ) d &M A
6 BI3Z00S® BAKOAB, $00BEd &M 8 S'wred® Fohwk. e BB dFPaos

T & HAJ 3 Fwres” Jrf BT, ©HE & g SgEe Sodhed® Ba (Srarahed’)
(1) 150 (2) 200 (3) 250 (4) 300

66.

P11

Two men undertaketo do apiece of work for Rs. 5,600. First man alone can do thiswork in
7 days while the second man alone can do thiswork in 8 days. If they work together and
completethiswork in 3 dayswith the help of aboy, then the amount the two men together
getis (inrupees)

QS Hg8e0 2.8 DA . 5,600 05 DaSgerds OB, IEE S8 8B TAD
7 Serod® BohgrOnS, Sods Hg8 0.8 8 8 Swed® Bobghed. wf wrend drsdos’
TOGEr 8O © DI 3 Fewres® Y BokgrdnG, °0E08 §OD Sy ) (r.0s”)
(1) 4,000 (2) 4,500

(3) 4,580 (4) 4,600

14-A
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If thewages of 6 men for 15 days be Rs. 700, then the wages of 9 men for 12 dayswill be
(in rupees)

15 8fored 6 58 HHe I$So S 700 wond, 12 Sereds 9 Ho0d HHDe IS0
(BrroSoees®)

(1) 840 (2) 848 (3) 1050 (4) 900

68.

8 men cando awork in 12 days. After 6 days of work, 4 more men were engaged to finish
thework. The number of daysrequired to completetheremainingwork is

8 5008 P& 28 HAJ 12 Fereos” Bolghenherd. 6 Fwe HJ $Ha S R08°8
L0MB Ere @ HA Jrd BoSErdE JcHowdd. &8 AAOS A Sohowerds

©I5VHGhg Swre dopg
(1 2 (2 3 3 4 (4) 5

69.

Thenumber of 5-digit even numbersthat can beformed using thedigits1, 2, 7, 9, 4 without
repetition is

PIoSYB0 580w 1, 2,7, 9, 4 90808’ 28\8EHON 5 - wose H0bopge dowg

(1) 16 (2 36 3 24 (4) 48

70.

From a group of 6 men and 4 women a committee of 4 personsisto be formed. The
number of different waysin which it can be done so that the committee has at least one
womenis

6 08 P, 4 K08 é’_ooen &) wl DHorrHn $od 458 Sg8ed) wl EER

AT D. D0 ¥ L?_on WONT WO IGSWKOTR S Jowg
(1) 210 (2) 225 (3) 195 (4) 185

71.

To completeawork A takes 6 daysand B takes 12 days. After A and B worked for two days,
C joined them and they compl eted the work on the 3rd day. The number of days C alone
takesto complete the ssmework is

28 DA g Voherd8 A8 6 SParen 0800 B8 12 Sleren Hendod. A Sodasn B e
Boky Seren HAVIS SHT S 08" CEoIm, aSod® Sordd 8wl @ HIJ Jrf Ba.

©3 DI g Bodgerds Cay)dd HF Swren
1) 3 (2) 6 3) 4 (4) 8

72.

P11

There arefive men and four ladiesto dine at around table. The number of waysthey can
seat themselves so that no two ladies are together is

©000 G YK $0050 S0 Qoo ¥ Ko By Wby FaI SrsHT.
QD AHS é’_opoo 8O Er&H%0m T ErGHHOA Dgdoe dopg
(1) 3280 (2) 3180 (3) 3080 (4) 2880

15-A
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A classstartsat 9:15am and laststill 12:38 pm. Four periodsare held during thisinterval.
After every period, 5 minutes are given free to the students. The exact duration of each
period (in minutes) is

08 SEK8S &0 9:15 Ko oo 263@’55730 12:38 Ko SE8r 0. &8 :5365590095‘
08 4 H0cH&en adiferomn. w88, HBANE S ss Qg 5 JINTe JoT00
0t00b. 288 580506 R0E), (‘Ogo“eq 0000 (AT eSs®) ‘

(1) 51 (2) 50 (3) 48 (4) 47

74.

Two trains of lengths 200 m and 180 m run on parallel tracks. When running in the same
direction the faster train crosses the slower one in 38 sec. When running in opposite
directions at the speeds same as their earlier speeds, they pass each other completely in
5sec. The speed of thefaster trainis (in m/sec.)

200 Doned So0as0 180 done )y Bodk B¢y Botk SSrody Hipe HBRG ST
¥ 28 8IS’ IPHIYE TBS* IEYS K0S IF) Do SEYS I8 IF) @A
38 DEHOS® TeNH0d. ¥F ITOS® JBVRKD dFOS' I, ©) Wl TITEL Jrom
5 285008° Treoeron. ST 89S 3K’ ST Beo Ko (A/DEHos®)

(1) 43 (2) 45 (3) 50 (4) 60

75.

Atrain 135 mlongisrunning with aspeed of 50 km/hr. Thetimetaken by it to passaman
who iswalking at 4 km/hr in the opposite direction (in seconds) is

135 Qoeod &) o8 Do Kotdo 50 8.200 FKo8” $&Fod. o8 whinmomr Kot

4 8. 00 K08 SATV ¥ $38 TLLrd8 ©d BHKI Jdcho (DEHS?)
(1) 10 2 9 3) 11 4) 8

76.

Thedistance between Pand Q is27 kms. Two men A and B walk from Pto Q at rates4 and
5 km an hour, respectively. B reaches Q and returns immediately and meetsA at R. The
distancefrom Pto Ris (in kms)

PSodcsn Qo Sy drdo 27 8.00.00. ASodasn Beds agd Sg8hen P&od Q8 Kot
$E1m 4500050 58.00 FTHYS ST . Q8 B0 BT0wrs 80h w0He0dd AJ RS

§0m. P80 R &) &rdo (8.20.089)
(1) 20 2) 21 (3) 23 (4) 24

77.

P11

A train passesatelegraph post in 8 sec. and a264 mlong bridgein 20 sec. Then thelength
of thetrainis(in mts.)

08 Do 28 BOITY Joerd) 8 DEDeS S, 264 o FEHD) o858 20 DEeS
T, ©E & 3w D&Y (g’

(1) 180 (2) 176 (3) 164 (4) 158
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A cangoround acircular path 8 timesin 40 min. If the diameter of the circleisincreased
to 10 times, the time required by A to go round the new path once, travelling at the same
speed as beforeis (in mins)

A 28 5)E75°6 o0 wotay 40 QoS 8 >l IFroc. & HEH gy 10 Béw
2008, $00HS IK0E°T IYPIYW, & FET0 wWtay w80 BEKHLrIE A8 HF dSooso

(Qorees?)
(1) 25 (2) 20 (3) 50 (4) 100

79.

A man iswatching from thetop of atower, aboat speeding away from the tower. The boat
makes an angle of depression of 45° with the man’s eye when it is at a distance of 60 m
from thetower. After 5 sec, the angle of depression becomes 30°. The approximate speed
of the boat, assuming it isrunning in still water (in kmph) (Take /3 = 1.732)

w8 $g8 o8 Ao P H0d af I IPIFSLo IrTdd. © T FHoA8 60 L.o

a—

;80 Sod)dyd & $58 S0l $5¢ 45° IS0 BB, 5 VN SHFTE T K

§%90 30° ®oo0b. T°% o BO0S® IHKHEHE oL, V3 =1.732 8:0%08, orordm
o K0 (Kotody &.o.0¢%)

(1) 31.62 (2) 36
(3) 37.26 (4) 40
80. If 12+22+32+ ... +x2= X(X+1)6(2X+l),then 12+32+52+ .. +192=
12+22+32+  +x2= X(X+1)6(2X+1) wond 12+ 32+52+ .. +192=
(1) 1330 (2) 2100
(3) 2485 (4) 2500
8l. Th f the Series =+—p+ 5+ -+ |
. esum of the series ¢ 2 g g IS
2 3 2 3
Eggf) g+?+¥+¥+....°° mgzr 3&335;0
(1) 24 (2) 24 (3) 24 (4) 24
P11 17-A
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If abody falls 16 m in the 13t second of its motion, 48 m in the 29, 80 m in the 39,
112 min the 4" and so on, then the distance it fall during the 11t" second of its motion
IS (in meters)

28 S0P T HHoS0S® IEE DES® 16 abiad), Bodd XS 48 oead, Horids
EHS° 80 aerd), Trenis EHS® 112 dvdod THPS HdEr &od D HSos'D

115 2856° 0 98 Srdo (WS’

83.

(1) 338 (2) 340 (3) 334 (4) 336
If it wasaSunday on Jan 1, 2006. The day of theweek onJan 1, 2010is

(1) Sunday (2) Saturday

(3) Friday (4) Wednesday

2558 1, 2006 § esbardHo008 2556 1, 2010 8 o080 e

(1) esda8o (2) $da8o

(3) HE>so (4) engado

84.

Thedates of April 2001 on whichWednesdaysfall are

2001 QR SeS® enggaroren 5%) 8den

(1) 1,8,15,22, 29 (2) 2,9, 16,23,30
(3) 3,10,17,24 (49) 4,11,18,25

85.

The calender for the year 2007 will be the same asfor the year
2007 & 5058)8) sPgo0iddy ddoom segeois wod dodeso
(1) 2014 (2) 2016 (3) 2017 (4) 2018

86.

Which of thefollowing isnot aleap year?
& (808 IS* &Y Hod)Bo AR AB?
(1) 700 (2) 800 (3) 1600 (4) 2000

87.

How many times do the two hands of the clock coincidein aday?
28 §erd® QL) KAASFEY Bodkd H00¢) H8FDF0n0?
(1) 22 (2) 24 (3 20 (4 21

88.

P11

Thetime awatch loses per day, if itstwo hands coincide every 64 minutes (inmins.) is
8 WO K&ASTED) Bodkd $00¢Y) ©8 64 Airosd 8PN, & K&SrSo Seres® ?é‘bo‘ﬁo

3500300 (dAoareesS®)

(1) 96 (2) 80 (3) 38% (4) 32%

18-A
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The time between 7 and 8 O’ clock when the two hands of a clock will be in the same
straight line but not together is

2
(1) Sminpast7 (2) 51—1 min past 7
3) 5 minpast7 4) 5~ minpast7
(3) 1 min p (4) 1 min p

7 500050 8ot Sy a8 KA Bok B¢y A8eowio s°&om e B pS’
&0aB oo

2

(1) 7 Kotoewn o3 5oaren (2) 7 Kotoew =& 5ﬁ QAoaren
3 5

(3) 7 Kotoew =& 5ﬂ QAo en (4) 7 Kotoew &3 5E QAoaren

90.

The angle between the two hands of aclock whenthetimeis8:30is
%050 8:30 ®oddyd KGASrEoS ™ B Swng) D¢y wo
(1) 80° (2) 75° (3) 60° (4) 105°

91.

A starts business with Rs. 3,500 and after 5 months, B joins A with some capital. After
ayear, if the profit isdivided in theratio 2:3. Then B’s contribution in the total capital is
(inrupees)

08 garomd) Ade. 3,5006° 8o, 5Ive a8 BEod DeRads AS B[O, e
Bod&So SHTE ergfo 2:3 AQBS® rnoddd, v Ingo DERwES® B Sokh
(Srrooees®)

(1) 9,000 (2) 7,000 (3) 5,000 (4) 4,000

92.

A, B and Cinvested Rs. 8,000, Rs. 4,000 and Rs. 8,000 respectively inabusiness. A left it
after six months and at the end of eighth month, there was again of Rs. 4,005. Then the
shareof B initis(inrupees)

A, B 5005» Ceo a8 argardos® $ddm &r. 8,000, dr. 4,000 Sobosn &». 8,000
NG DD, B8 Jvo SHTE A T ol woHLEH T AANE o DS
&r. 4,005 0 ergfo SPYod. TAS* B Hod (Srarahes®)

(1) 690 (2) 790 (3) 890 (4) 990

93.

P11

In business, A and C invested amounts in the ratio 2:1, whereas the ratio between
amountsinvested by A and B was 3:2. If Rs. 1,57,300 wastheir profit, the shareof B init
(inrupees) is

08 Tgardos® Adoin Cen 2:10)86° in0d 8 ASodoin B o Dinndie A48
32 308 $YS orgfo . 1,57,300 @028 wohes® B arer (Srarches®)

(1) 48,000 (2) 47,000 (3) 48,400 (4) 47,400

19-A



94.

FRESHERS NOW

P-1 Booklet Code | A

1
A and B are partners in a business. A contributes " of the capital for 15 months and

1
B received 1 of the profit. Thetimethat B’'smoney wasusedis
(1) 1lyear (2) 9months (3) 6months (4) 10 months

1
A S08050 Be§ argardoes” eriargdnen. $areddod’ 1 308 15300 Axanyd, o708

1
ergoes® Z S S0k B8 RTANCIAN B 08, @”2533&) GIARTAONS dSc%0

(1) 10580 (2) 9 Jvew (3) 6 Jvew (4) 10 o

95.

The number of bricks, each measuring 25 cm x 15 cm x 8 cm required to construct awall
of dimensions 10 m x 4 m x 5 m when 10% of itsvolumeis occupied by mortar is

100, x40, X 50, © HdSreoren Ko wf {7¢ domyos® 10% 28 H08)08° V0&8, I
EHT A8 5°H0dY 25 0.0, X 150.0. X 80.a0. © H0Srerren Ko Qeoie Homg
(1) 40,000 (2) 80,000
(3) 70,000 (4) 60,000

96.

Theradii of two cylindersareintheratio 3:4 and their heightsareintheratio 5:2. Theratio
of their volumeis

Boch Srre Frgroen 314 AQYS'Ir, T8 dHer 52 IHBS e eIm)on. oel
D3B8 Srerre NG
(1) 45:32 (2) 27:20 (3) 35:32 (4) 32:45

97.

If base radii of aconeisincreased by 30% and its slant height is made double, then the
percentage increasein the curved surface areais

28 3080 & gy 30% 00D, TR e e Bododen WY TR SO TS

N0Y TS0

(1) 140 (2) 150 (3) 160 (4) 170

98.

P11

A hemisphere and a cone have equal bases. If their heightsare also equal, theratio of the
areas of their curved surfaceswill be

28 @gﬁ‘sq‘fo, o8 wrrTen JdSrdo. T8 e Erd ISrIHons, T8 SESo
STorgo NG

(1) 1:42 2 J2:1 (3) 1:2 (4) 2:1

20-A
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The height of a conical tent is 14 feet and the radius of its base is 6 feet. If 12 persons
deep inthistent, the average cubic feet of air availableto each person (in cubic feet) is
F080) ©5°808° &) 2.8 HEd) &) 14 edorHen o850 &7 gragrgo 6 eoroe.
© HFE0S” 12 Ho0d Sg&hen JEFE0B, o808 wod dHLn MO HodHdIrw0
(P08 e os?)

(1) 30 (2) 33 (3) 36 (4) 44

100.

The metallic solid cone is melted and converted into the shape of solid cylinder of equal
radius. If the height of the cylinder is 6 m, the height of the coneis (in mts)

8 S oS FoBHS 80D T mg@go fo a8 S éo;é w5 dom Srond. &
BrHo ey 6 o wonB, & FoKD L (MS?)

(1) 15 (2) 16 (3) 17 (4) 18

101.

Themissingterminthesequencel, 3,3,6,7,9, ,12,21is
woE00 1,3,3,6,7,9, _, 12,21 S° S0l Do
(1) 10 2 11 3) 12 (4) 13

102.

Theterm that comes next in the arrangement of |ettersgiven below is.
Bo& NS WS ©H00ES" Soed HTy HEo

YEB, WFD, UHG, SKI, is
(1) QGL (2) QOL
(3) TOL (4) ONL

103.

Themissing termin thefollowing sequenceis

Bod ¥RNE0S® S*HoNS Ho

4,9,25, ,121, 169, 289, 361

(1) 49 (2) 64 (3) 81 (4) 87

104.

The 21% term in the sequence 3, 9, 15, 21, ... is
dEdo 3,9,15,21, ... &° 215 Ho

105.

P11

(1) 117 (2) 123 3 121 (4) 119
Which term of the sequence 5, 10, 20, 40, ... is 12807?
(1) Eighthterm (2) Ninthterm
(3) Tenthterm (4) Seventhterm
ooEo 5,10, 20, 40, ... &° 1280 A H&o?
(1) 285 Heso (2) &8s dso
(3) H&% HSo (4) 235 HS0
21-A
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106. 7528 isrelated to 5306, in the same way as 4673 isrelated to
7528 &3 Hopgso 5306 $0206008 88S° 4673 & H0200800S Howpg

(1) 2367 (2) 2451

(3) 2531 (4) 2641
107. 25:125::49:

(1) 206 (2) 180

(3) 216 (4) 343

108. ‘BELOW' isrelated to ‘OBWEL' in a certain way. The pair among the following having
samerelationshipis
‘BELOW’ § ‘OBWEL’ 2.8 ég@@‘ 002080058. 808 T°e° @R Howodso é@é 208
(1) REPLY:LRYPE (2) ALONG:NAOLG
(3) DRAFT:FDTRA (4) YEARS:RESYA

109. Thepair among thefollowing that hasthe samerelationshipasOFTEN : FOTNE s

808 de5®, OFTEN : FOTNES$ o d0205°%) 80 &) 2ot
(1) HEART:TRAHE (2) RISKY:IRSYK
(3) OPENS:SNEOP (4) LUNGS:UNLGS

110. Thepair among thefollowing that hasthe samerelationship asthat of ROCK : CROK?

8od 57d¢° ROCK : CROK &° o $o2005°%) 8 sob

(1) BALE:ELAB (2) MIND:DINM
(3) MEAN:AEMN (4) HAND:NHAD

111. 34:12::59:
(1) 14 (2) 47 (3) 38 (4) 45

112. If PAPERiscoded asQCSIW theninthat code EXAMPLE iswritten as
w8 8&8° PAPER QO QCSIW 9 ooy o8 §&s® EXAMPLER o7 d&o
(1) FZDUQRL (2) FZQDURL
(3) FZDQURL (4) FZQUDRL

113. If LARSEQ isthecodewordfor MASTER, thenthecodeword STEAM is

LARSEQe38 MASTERS 86 55308, STEAM & 86 %60
(1) RSEAL (2) SREAL
(3) SREAM (4) SRAEL

P11 22-A
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114. Precaution : Accident : : : Diseases
(1) Doctor (2) Patient
(3) Sanitation (4) Medicine
S00080 e 1 DEATEo ¢ D & mren
(1) Scogko (2) &a
(3) dEss (4) oo

115. MP:HK :: WZ :
(1) QS (2) PS (3) RU (4 RV

116. If AIRTEL iscoded asCKTVGN then RELIANCE iscoded as
AIRTELQ CKTVGN m 86 Rc020858°, RELIANCES §°& $&o

(1) TGKNCPEG (2) TGNKCPEG
(3) TGNKPCEG (4) TGNKCPGE
117. If CAR, TIN and BOAT are coded as 364, 182 and 7561 respectively, then CONTRACTOR
iscoded as
CAR, TIN, BOAT oo $8dm 364, 182, 7561 §°G &, CONTRACTORS §°G
(1) 3521643154 (2) 3521463154
(3) 3524163154 (4) 3521634154

118. The odd thing out of 338, 158, 639, 543, 449 is
338, 158, 639, 543, 449 ©® J8F0IB

(1) 449 (2) 639 (3) 543 (4) 158
119. In the letter-number sequence ZG 13, , VM 17, TP 19 the correct |etter-number
that fillstheblank is
©E8 dopg w0 ZG 13, VM 17, TP 19 ¢5* 9°®e5° &odS5edd DG WS
éomg
(1) XJ15 (2 Y17
(3 YI1s (4) RS15
120. The next term in the sequence of letter arrangementsis
AD, FC,HK, MJ,
©ES o vl ESo AD, FC, HK, MJ, S* 078 Ho
(1) NQ (2) OQ (3) MP (4) OR

P11 23-A
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A woman going with aboy isasked by another woman about the rel ationship between them.
Thewoman replied, “My maternal uncle and the uncle of hismaternal uncleisthe same’.
Therelationship between thelady and boy is

(1) Meterna Grandmother and Grandson (2) Mother and Son

(3) Auntand Nephew (4) Paterna Grandmother and Grandson
28 TS L) w8 QO DG B T8 Hdg wogaEo D VEAK. INEB B ‘&
FB8D0, & ereod FoI5rHB DISTD w88 ©d Sdrio aYod. « @é, 208
a1} aooc‘éoéogo

(1) o505, Soddock (2) 89, &%

(3) o8, DS (4) sy, Bossocd

122.

Pointing to G aperson D said, “Hisonly brother isthefather of my daughter’sfather”. Then
Gisrelatedto D as

(1) Grandfather (2) Father

(3) Brother-in-law (4) Paternal Uncle

G SrHesr el 358 D “esos0 R0E), 2,8 28 PSS T Erdd oG8 Sod” ©
Baryko. I} Dg G&° 220608c0

(D) o (2) So& (3) o3 (4) ererron

123.

P11

Examinethefollowing relationships among membersof afamily of six persons-A, B, C,
D,EandF

(i) Thenumber of malesequalsto that of thefemales

(i) AandEaresonsof F

(iii) D isthe mother of two, one boy and one girl

(iv) Bisthesonof A

(v) Thereisone married coupleinthefamily at present

Aninferencethat can be drawn from the aboveinformationis

(1) A,BandCaredl females (2) A isthehusbandof D

(3) Disthegrand daughter of F (4) EandFarechildrenof D
s Sg8hen A, B, C, D, E, Feoo o 28 Sotaow K)aﬁageﬁ:: 8od D00 e0aT)0%.
(i) Botwowod® eiard dopg Sorard Dopgdd ddrSo

(i) A, Eeo F& $odrshen

(i) 28 wrend, el wrd8w 1gos €& D

(iv) A& B&sr s

(V) 088 Sotnow0d® wl ITers oy wod

D ddrardo 0od Tradife ef &)q;cfea

(1) A,B,Ceo ®088> 8370 (2) D8 A8

(3) F& D Sododooren (4) E,Fex Ddos S0
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One among 17, 19, 23, 27 and 29 is different from the other four. The one which is
different is

17, 19, 23, 27, 29 ©&® 2,88 AdS Qo8BS DBHN08. ABS® & JBHORY
1) 17 2) 19 3) 27 4) 29

125. K isthe brother of N and X.Y isthe mother of N and Z isthe father of K. The statements
among thefollowing that is not definitely trueis
(1) Kisthesonof Z (2) Yisthewifeof Z
(3) Kisthesonof Y (4) Nisthebrother of X
N, X 0% K&k, N8 Y 89, K& Z&o&. §08 R3S pydonr Jz0 578
(1) Z8 K Srsack (2) Z8 Yersg
(3) Y& K&osrdako (4) X & Na&ssc
126. Anthropology : Man: : Anthology : ?
(1) Nature (2) Trees (3) Apes (4) Poems
I8 BBy Z0 1 IrSYd ¢ Srosro ?
(1) 88 (2) B (3) aSocen (4) Sorgen
127. A man standsfacing West. Heturns45° in the clockwise direction and then another 180° in

the same direction and then 270° in the anticlockwise direction. Thedirection heisfacing
now is

(1) South (2) North-West (3) West (4) South-West
28880 HEE AEVRCY DI0POT dO& ﬁ'ss:lcéo. WS (K8 BFS® 45° 884, éc‘:sé R
6% 180° 88h, ep @i &¥S° 2/0° 88mmk. Yk 8IS wSnpon wd) &F

128.

P11

(1) &80 (2) arasnsgo () &8 (4) %8
A manwalksinthedirectionsgiven below:

(i) 50mto East (i) then 50 mto South

(iii) and then 120 m to West (iv) later 25 mto North

(v) andfinally 70 mto East

Then the distance (in meters) between the starting point and the last point is

w8 558 808 JSasS BFeS” Sdodyam .

(i) 50 ao. Srddy 3D (i) SSarg 50 Q. $§0 ID
(i) & 120 . HEB08 D) (iv) S50 25 . wddo 3D
(V) D58 70 do. Exdy B

Y& 088 DoY) $0d VHB HowYB Ko drdo (Qedes®)

(1) 25 (2) 30 (3) 40 (4) 50

25-A
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Rohan walked 40 metrestowards North, took aleft turn and walked 20 metres. He again
took aleft turn and walked 40 metres. The distance and the directionin which heisfrom
the starting point is

(1) 20 metres East (2) 20 metres North

(3) 20 metres West (4) 100 metres South

s w88 6d3m 40 2ol 3§), IEHIH 80 20 DL SdTdd. & Sogs o)
&I YE 80h 40 DL SATck. eS8 oBOS Do o0& Grdo, BF
SIm

(1) 200608, &8y (2) 20068, wgdo

(3) 20 doeodly, Hessod (4) 100 2oeady, cs8evo

130.

Amit walked 30 metrestowards East, took aright turn and walked 40 metres. Then hetook
a left turn and walked 30 metres. The direction in which he is now with respect to the
starting pointis

(1) North-East (2) East

(3) South-East (4) South

WS Erddy 8Im 30 DL SAD, L83 80h 40 el ST . & ST IEJYE
808 30 aerd) SAT . w8 woeBOS Dot Syry VIR &) BF

(1) =S50 (2) S8

(3) ehoso (4) &8e00

131.

P11

A, B, C, D, E, F, Gand H are sitting around a round table in the same order, for group
discussion at equal distances. Their positions are clockwise. If G sitsin the North, then
D sitsin the direction

(1) East (2) South-East

(3) South (4) South-West

08 $68 A, B, C,D,E, F G Heoo o8 §00os® a8 o 2 Moty dHdrdos®
Erd . a0 FIren g BFST evanon. Gedsd 3D Erd)oB iy D Srdy&) 6F
(1) Sr (2) ehoso

(3) &80 (4) 3I%8
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Inadinner party both fish and meat were served. Sometook only fish and some only mest.
There were some vegetarians who did not accept either. The rest accepted both fish and
meat. The correct diagrams that reflectsthis situation is

28 DoHS” BHew, $r0d0 SGoT . Foddh Vhew Sr@ 83, $H0F0EH Srodo
SPGE0 BoLrdd. ©oBTE € Bo&otdd ©oAE0oEI TP T er FolaK. MNAOST
To&0EBA Botrdd. & HBJEI 8NN HOSS DEETDo

(1) %> (2)

(3) @ @ O
©

133.

Some of the cricket playersaretennis players, sometennisplayersare hockey playersand
no cricket player isahockey player.
The diagramsthat correctly represent the above statementsis

Fodt (88 sy BYD s, Fodd BYD wmrsy 58 wom), o §88
esdormedr %8 esdorridy 5.
D RIETo0H Srdod D050 DFo

e

134.

P11

The number that isin all the geometrical figuresis
®Q) gNESH VST S &&) dowg
(1) 4
(2) 5
(3 8
4 3
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In the set of real numbersthe equation 2x + 3y =5 has
(1) nosolution (2) only onesolution
(3) infinite number of solutions (4) finite number of solutions
TRHD DoPrgdASS® HAEBwo 2X + Jy = 5 5%
(D) 3L B0 (2) 238 28 S &od
(3) w08 dogrgd FESeom)00 (4) HBE Dogrgs FESeoTo0

136.

The number with the second, the fifth and the eighth digitsin that order of the number
31549786, is a perfect square of atwo-digit number x. The unitsdigit of xis

31549786 &°0 Bodd, 2dS, JAWEH woses IO Dopg &8 Bodosw dopg X &
SgS0. & dopg XS 288 a(;c‘éoeS’GK) ©08

1) 1 (2) 6 (3) 4 (4) 2

137.

Inarow of boys, K isfifth from theleft and R issixth from theright. If they exchangetheir
positions, K becomes the thirteen from the left. Then the position of R from therightis
(1) Seventh (2) Eleventh

(3) Fourteenth (4) Eighteenth

erend SOVS” AENJY 0D wdIF;E K, H83 Hod wddard R o8 oo
FEHErE B008 K o 650800 HE5rEss wond $a3Y S0 Rarso

(1) 2656 ' (2) HEFES6 |

(3) Saeorse (4) $BINSH6

138.

If Rohan ranks seventh from the top and twenty-sixth from the bottom in a class, then the
number of studentsintheclassis

w8 S8K8S® Bra 0708 D K00 DB, Bod Hod AR BESE Yond & SEHBS'
36’85&30 éogpg

(1) 31 (2) 32 (3) 33 (4) 34

139.

If L standsfor +, M standsfor —, N standsfor x, P standsfor +, then
[(14N10)L(42P2)]M8 =

L o3& +Q, Mol -, Nodd X9, Peldd +Q drd, wdyd
[(14N10)L(42P2)]M8 =

(1) 153 (2) 216 (3) 248 (4) 251

140.

P11

If 20—10means200, 8 +~ 4 means12, 6 X 2 means4,

then [(100 — 10) x (1000 + 1000)] + (100 x 10) =

20 — 10 @o&8 200 9, 8 + 4 ®oB 12 @, 6 X 2 @08 4 @géooooé ST
[(100 —10) x (1000 + 1000)] + (100 x 10) =

(1) 20 (2) 1090 (3) 1900 4 O
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Square: Cube: : Area:
(1) Side (2) Diagona
(3) Volume (4) Perimeter
BBER0 : do 1 JTego
(1) eHe=o (2) 8gH»
() HoSL8Bore00 (4) SotnFod

142.

There are some benches in a classroom. If four students sit on each bench, then three
benches are | eft unoccupied. However, if three students sit on each bench, three students
areleft standing. The number of studentsintheclassis

w8 868 HOS® &) weeoTyow. wf)E) e Sepdd Erdyod Sk weed oM
GOoLron. w88 Y SN Erdod S Juadlied SFPob. & SEH8S'D
Z)CS"gCS&ge) éogpg

(1) 36 (2) 48

(3) 56 (4) 64

143.

In an examination, astudent scores4 marksfor every correct answer and loses 1 mark for
every wrong answer. If the student attempts all 60 questions and scores 130 marks, the
number of questions correctly answered is

28 DBEST Dargl HOXS waren oy 4 SrEned STow, aaren SHowd 1 Sroy,
Firtgdootrd. a8 dogd aWS 60 PHosr =Yy 130 Srdn e Fodd 98l

DBGJ 25O RHo dowg
(1) 35 (2) 38 (3) 40 (4) 42

144.

KistwiceasoldasR. Threeyearsago, K wasthreetimesasold asR. The present age of K
(inyears) is

R 808 3¢305) Sasdo o K. Sards Sodd)ore E8o K 50509 R 50808980 aeéadén.
K %38 $09i9) (Sos&ore’)

Q 7 (2) 8 (3 12 (4) 6

145.

P11

Age of the father istwice that of the elder son. Ten years hence the age of the father will
be three times that of the younger son. If the difference of the ages of the two sonsis
15 years, the age (in years) of the father is

S0l S00d ©ED B Tk SoHTS Do, HB HoSET® oS S DY) T
SA50DNE Sy Tew Gwotwnod. & AP Fddie Sohdye B&o 15 30580°88 e
Sold H0%Y) (éo:ﬁé{\)wé:)

(1) 50 (2) 55 (3) 60 (4 70
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Five hundred students appeared in an examination comprising English, Hindi and
M athematics. The diagram givesthe number of candidateswho failed in different subjects.
The percentage of candidateswho failed in at |east two subjectsis

Q000 08, K300 ErdS w8 HOE% pdidode S0d DTrgRen HFFdoirgdd. Bob
QEEoeS® DG é@égoeﬁ‘ éibo)(‘é T8 Jopgen Y. g0%0 ok é@%oé‘ éﬁ)o)(‘é T8 B0

English A Hindi
©ofo ‘ o8
Mathematics
Ke3so
(1) 0.078 (2) 1.8 (3) 6.8 (4) 7.8

147.

Givena=1.10101, b=1.01010, ¢c=1.110110 and d = 1.001001. The ascending order of
these numbersis

a=1.10101, b = 1.01010, ¢ = 1.110110, d = 1.001001 & xw\k. &% dopge w&ire
&S00

(1) d,c,ab (2) d,bac

(3) c,abd (4 b,acd

148.

At the end of ameeting all the ten people present shake hands with each other once. The
number of handshakesaltogetheris

08 JSrITI0880 TR0 I080 HBH0H WIS Wi w8 0 Edredo BT K. I0go
g8 éogpg

(1) 20 (2) 45 (3) 55 (4) 90

149.

In agroup of cows and hensif the number of legs are 14 more than twice the number of
heads.Then the number of cowsis

esHen, ?%@) @) w8 HoYS”® 5°¢) Jopg & Soo Jopg BEo) 08 14 SEVR oy
%08 I wvho dopg

1) 5 2 7 (3 10 4 12

150.

P11

If 13 timesanumber added to itself gives 112, then the number is
o8 dopgd o 13 &) §098 112 5908 & dopg
(1) 8 2 7 3 9 (49 11
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Q 151-160: Directions

Study thefollowing information carefully, to answer these questions

Spectra Ltd Co. wants to recruit computer operators for its branch offices in various places.

Following criteriaare laid down for selections:

(A) Beagraduatewith at least 60% marks

(B) Have passed aPG degree/diplomain computer applicationswith at least 65% marks

(C) Havecleared the computer skill test with at least 55% marks

(D) Benot lessthan 24 years and not more than 30 years of age as on 01.09.2017

However, if acandidate satisfiesall these conditions EXCEPT

(i) at(B) above, but has secured at least 70% marks in computer skill test, the caseisto be
referred to the GM-Admin of the company

(i) at (D) above, but hasaworking experienceof at |east two yearsin Information Technol ogy,
the caseisto be referred to the GM-Personnel of the company.

In each of the questionsfrom 151-160, the details of one candidate are given asregards his/her

candidature. You have to read the information provided and decide his'her status based on the

conditions given above and theinformation provided. You are not to assume anything other than

theinformation provided in each of thefollowing questions. All these casesare givento you as

on 01.09.2017.

Givetheanswer

() if the candidate isto be selected

(1) if thecandidateisto bereferred to the GM-Administration

(1) if the candidate isto be referred to the GM-Personnel

(IV) if thedataprovided areinadequate to make adecision

(V) if the candidateis not to be selected

808 Jdraror) g $8D 151 Kood 160 RHHody 2720950y,

D OWNBE o DG FoeeS” &) S5 5ogOSrd’ §orgtod @XJ@&JQ QoSrSosTen

BolrolsHo. VRO JODEH Q) Ded DEPod. v

(A) 8d0 60% Srdn o8 H&ewon omd

(B) 8J%0 65% Srd o8’ Sodrgadd endise® dB/&Sr §00 womd

(C) 8d%0 55% Srd o8 Sodrgwd FSogs H0F 8RB wozd

(D) 01.09.2017 5738 24 Joddorody &S89 & 5°800a, 30 J058)Tr0s owd H$a508Y)
icfetead )

©008 ST @aﬁgg P TES° £ Sdy WADS Johdreld éﬁé@'f_op, T8 DoNEL &0d

K)ccgé’éfi) ©I00DoTd.

(i) (B) doooo Bsoam, Soirgtl gy HOES” EAd0 70% Srdnen IR, & g8
S0 B, B¥ESIIub - HOTOIK Hord.

(i) (D) dososoo Bsoa, aéo)?S&)KAS BeeLS® EAV0 Bod) vloeiHo wod © SRRy o

R, 2885 333&5—?0az)o&§ Sord.
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©Heo 151-160 o¢® 2.8 @aﬁggé D020000NS DIT @ YIHI"0N. & S Eo&® e @aﬁgg
?8&‘0 @gooaoiﬁzéof’o 0008, Szi’)t)(‘é Jddrardo ééo) S00D WHEOM 0TS ErE S, &
Sdrardo woar 01.09.2017 850 ad\d6m Kodowrd.

Qo 2370 808 JFom KBowed.

(1)
(I
(1)
(V)
V)

151.

©ugQd Job B

oGO S R385 - HBTFOIE HoFrwod
oGO aSES D386 - 2eohs Horewod
08 dgodo Boerds devodo HOFEFB
@eﬁgg&) DoNE BOHEFSB

M anish has passed B.Sc (Botany) with 58% marksand has done a PG Diplomain computer
applications. His date of birth is 141" August 1994. He has cleared the computer skill test
with 58% marks.

58% 58,08 B.SC(5)E T30) €853 008 Sodrgs epdisSst adrsr Fomk.
08 HGESBE 14 wiily 1994 w8 Soirgtad gy H0§ 58% iy 08 &gEirgh.
Q |1 (2 3 1 4 V

152.

Amit Sharma passed BCA examination in 2012 of the age of 22 years with 80% marks.
After working for two years she enrolled for PG in Computer Applications. She has secured
55% marksin Computer Skill Test.

22 Jo3&ore H0009)8) 9sFs) 80% Srdy o8 2012 &° BCA argdongod. o
BoSH)Te & gTEoS80 E0orgtod BRTANS® WK SIrch BTN, Sodrgeod Sogs
H08eS* 55% Srdy 0 rEodod.

D | 2 1 (3) 1 4 vV

153.

Rajat Batrahas passed BCA aswell asM CA with 73% marks. He has cleared the Computer
Skill Test with 79% marks. His date of birth is 5" August 1986.

S8 i@ BCA, MCA 030408 73% S8, 0&° argdasomgcdd. Soiyrgtad gy H08S”
79% Srdn.e0 FHowrd. w8 HBIBE 5 ey 1986.

1) | 2 1 (3) V (4) N

154.

P11

Praveen Kumar has passed BA with 68% marksand PG Diplomain Computer Applications
with 70% marks. He has secured 70% marks in Computer Skill Test. His date of birth is
08.02.1992.

68% Srd o8 BA argdonnd BB B85, gorgead @ﬁggéSeS‘s PG &&rdrso 70%
:55"632;0@5 ﬁ@dgacéoﬁrgcéo. éo?’.gy’géog @*’éagg $8ge* 70% :631632’00 FHoOW K. 9B
DES 3& 08.02.1992.

1) | 2 | 3 NV 4 V
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Sukumar passed PGDCA in 2012 at the age of 28 yearswith 66% marks. After working for
threeyearsin Information Technology he enrolled for PG degreein computer applications
last year. He has secured 85% marksin hisgraduation aswell asin Computer Skill Test.
S 28 S oIR8 2012 &S° 080drS 66% Sy 08" PGDCA Srgdasrgd. S
Dodg)ore &EgTSosso anRAS Beeds® Bodd Joddso @8l PGDCA 8 2
$3¢o BRI, w5 S5 QS HOES S, Boiyrgald ogy HOES S 85% Sm8oy o0
;oW B.

) 2) | (3) 4) V

156.

Prakash has obtai ned engineering degreein Computer Science with 66% marksand MCA
with 61% marks. He has secured 82% marks in Computer Skill Test. He completes
26 years of age by May 2017.

@5°R Soyrgead D) RozABOA & 66% Srdyesisec, MCA J 61% Srd)es'ser
FgdAsrgcd. owrgad Fods H0ES® 82% Srdyen Fhowrdd. @S 2 2017 g
26 $058)0°0 H0%000 G B,

Q |1 (2 3 4 v

157.

Suji hasdone B.Sc (Physics) and PG Diplomain Computer Applicationswith 69% marks
and 56% marks respectively. She has secured 76% marksin Computer Skill Test. Her date
of birth is 10.03.1993

S85m 69%, 56% Srdn e Loz B.SC (T8 ra"éo), gorgead @ﬁmaéo“lSeS‘ PG &&rdoen
Fodod. Sodyrgtad gy HOES® 76% Srdy e FHodod. e HGS 86 10.03.1993.
D | 2 1 (3) 4 Vv

158.

M onica Sharmahas obtained PG diplomain Computer A pplicationsfrom areputed institute.
She has cleared the Computer Skill Test with 56% marks. Shewill be completing 27 years
of agein July 2017.

IrJse F8) w8 DY Do Sod Eoirghd @NBARS” PG s odod. oirgiod
gy H65S" 56% Srdyeo Hood. @B 2017 & w@ 27 Hosd)Ten Hrg 9306,
QO |1 (2) 3 4 Vv

159.

P11

Amar isascience graduate with 61% marks. He hasdone M CA with 65% marksand 5 years
of experienceintheareaof I T. He has secured 60% marksin Computer Skill Test. Hisdate
of birth is 01.01.1987

@508 61% Srse0 FobS e HLF k. w8l 65% Srdy o8 MCA Bz, IT
Sorfoe® b Joddore e@defso ewod. oyt @m‘ﬁogg $8ge* 60% S0 ok,
08 HBS 86 01.01.1987

1) | 2 | (3 1 4 NV
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160. Fatimahas passed B.Sc (Honours) and M CA with 73% and 78% marks respectively. She
has cleared the Computer Skill Test with 79% marks. Her date of birth is 16.06.1991

83> B.Sc (Honours), MCA o $80m 73%, 78% S50, 08° argdongod. Sogrgtod

gy H68S° T Sroned FHoD0s. v HP$BE 16.06.1991
(1) | 2 |l (3) 4 N

Q. 161 to 170: Directions

Study thefollowing information carefully and answer the questions given below.
Following are the conditions for admission to an engineering college. A student should
(i) beof minimum 18 years of ageason 1.7.2016.

(i) havesecured at least 50% marksin standard XI11.

(ii1) havesecured at least 60% marksin entrance exam.

(iv) beready to pay Rs. 20,000/- at the time of admission.

A student who fulfilsall the conditions EXCEPT:

(@) at(ii) above, but has secured 80% marksin entrace exam, caseto bereferred to President,
Admission.

(b) at(iv) above, but can pay at least Rs.10,000/- at the time of admission, caseto bereferred
to Dean of the college.

Based on the above conditions and information provided in each of the question below, decide
the course of action in each case. No further information is available. You are not to assume
anything. Thesecasesaregiventoyouasan 1.12.2016

Mark your answer as

(1) if thestudent isto be admitted

(1) if the caseisto bereferred to President, Admissions

(1) if the caseisto be referred to Dean of the college

(IV) if thedataare not adequate to make decision

(V) if thestudent is not to be admitted

808 I3rerorQ) g S8, PHoo 161 - 170 05 2370050y,
08 R0800A Ee7Te HITIE 8§08 VGNIFLOTD. ) TP WO
(i) 1.7.2016 57838 8d%0 18 Jodhorenowmd. |

(i) Xl 8868e° 800 50% Sy en Fod &omd.

(i) ©3F H0§s® 8A%0 60% Srdy 0 Fomd.

(V) @3¢ SHocs0s® &. 20,000/- BYoBokse deform eomd.
©o08 @ ITGY @onT FAoBA By MAOIIY) SyHdo R, T8 PBITIS 8ob HEAI

I00DOTO.
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(i) QoS0 Boar), PRH08S" B0% Sy e0 Fodd & JTgBI PRTO WPgEIS Hord.
(iv) Qoo Boar), %0 &. 10,000/- HI3F 250000 BOoWHKYB & DTy v
&8 Hod.

20 BN AaDBro, HEH© BTEomr §oBINS @HOS Ty BRTo D8 dGooTd.
500 Jirardo warosoodd. 8sd) avdy 1.12.2016 5788 i) Shrardo.
D DIrrIren 80d JFom Kodowd.

(1)
(I
(1)
(V)
(V)

161.

gl BITIE 8D,

TGP BITQ) BITO wEgHIS Howd
DY BITR) EerTo 38 Ho23
AGSTIR BEFTES BOFEFE

g8 EITR) AoE0H

Shekhar has secured 58% and 85% in X 11 standard and in the entrance test respectively. He
was born on 11t" January 1998. He can pay Rs. 20,000/- at thetime of admission.

3068 Xl $658&°, HRFH08S” S8 58%, 85% Sy en Samyow. wss 11 =350
19983 iy, ©IF doados® . 20,000/~ BQowKe k.

(1) | 2 | (3) 4) V

162.

Sheela has secured 75% and 80% marks in the XII standard and in the entrance test
respectively. She can pay Rs.10,000/- at the time of admission and was born on 151 June
1998.

XI1 8558, $37 5685 $60m 75%, 80% Sdae0 Fobod Lo, s HHF HH0cHod*
&. 10,000/~ B0k, 15 @S 1998 S Hios.

(1) | 2 |l (3) 4 N

163.

Ashok was born on 17t January 1998. He has secured 65% and 75% in X1 and in the
entrance test respectively. He can pay Rs.15,000/- at the time of admission.

17 2850 1998 & «§°§ adpowrds. s Xl $818, B3 H85S* 3835 65%, 75%
Srdy 0 FHoT . B3F dBoc%oS® wsly K. 15,000/- Bowsrew k.
D |1 2 | 3 4 V

164.

P11

Aruna can pay Rs. 20,000/- at the time of admission and has secured 60% and 70% in
graduation and in the entrance test respectively. Shewas born on 5 April 1997.

v HIF ddocos® K. 20,000/- BOobKwG, B HQFS, HIF HOES® /M
60%, 70% Sordne0 FHoD0d. 8B 5 RS 1997 $ HiJod.
(1 Il (2) N (3 V (4 NV
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Ritawas born on 12! June 1996. She can pay Rs. 20,000/- at the time of admission. She
has secured 45% and 85% marksin XI1 and in the entrance test respectively.

8¢ 12 2~8 1996 S Pod. HIF dooos® . 20,000/- BYowKedd. Xl 558, ©3F
HOES’T 583 45%, 85% S8 0 FEoRob.
1 Vv 2 1 (3) 1 4 vV

166.

Sunil has secured 55% and 75% in XII standard and in the entrance test respectively. He
was born on 10t November 1998. He can pay Rs. 20,000/- at the time of admission.

QS Xl 88158, 3% HOEST $8dm 55%, 75% Sy en Fdomd. @8l 10 SH50e6

19983 Hepdo. HIF $%000S° &. 20,000/~ BYosKwm:.
1 2) 3) N (4 V

167.

Prabhat has secured 80% and 60% in the entrance test and XI| standard respectively. He
can pay Rs. 20,000/ at the time of admission. Hewasthe oldest in hisclass.

©erS ©37 568, XI| 618 $68° 65 80%, 0% 58y 00 Fom . HIF SHoa0oS*
8. 20,000/~ BQossHod. Wit SEHBS® V&G Schibo, k.
(1) V 2 | (3) 4 N

168.

Akhil wasborn on 9th July 1997. He can pay Rs. 20,000/- at thetime of admission. He has
secured 60% and 80% in X11 and in the entrance test respectively.

©DSE 9B 1997 % Hipdh. HI¥ 3500005 K. 20,000/ BousKek. wa XIl S518,
©OBF HES® S8 60%, 80% Srdoy o0 Fomrd.
(1) | (2 V 3 N 4

169.

Arun has secured 55% and 65% in XII standard and in the entrance test respectively. He
was born on 19" May 1997. He can pay Rs. 20,000/- at the time of admission.

w65 XI| S6K8, B3 HOZST S65m 55%, 65% Svdoy 00 Fomrds. @8 19 F 19978
Do, HIF HZoc%0s® . 20,000/ BoBKL.

(1) | 2) V (3) 4 N

170.

P11

Kamala has secured 50% and 55% in XII standard and in the entrance test respectively.
Shewas 16 years 5 months old as on 15t May 2014. She can pay Rs. 20,000/ at the time
of admission.

X1l 8658, ©93% 6§ oo 50%, 55% Sy 00 Fodos. 130 2014 86 838 eR0dd
16 dosd)ore 5 Joo Hadgod. EIF dSoohos® K. 20,000/ BYowKe k.

) 2 3) | 4) V
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Q. 171-176: Directions

In each question given below a statement is followed by three courses of action numbered
[, 1land I11. A course of action isastep or administrative decision to be taken for improvement,
follow-up for further action in regard to the problems, policy etc. On the assumption that everything
inthe statement to betrue, you haveto decide which of the three given courses of actionlogically
follow for pursuing.

@Heo 171-176 SrsSeo:

B8 PHS'I> 28 PISSSr o 3o |, 1, 1T 558008 Sords srorgldemody amn)d.
Sorg sl WOl e Dby ESK, Q83 Horro edoreorm 8L0KT HoTroT Ao rod3d
555 WREH0S” /YS dSrerdSooe JuHSF ol aR)S Hrd s orgEdned’ & d) Som
B ©HDBoTS® W AFowowd.

171. Statement : While hundreds of childless couples are waiting to have achild for adoption,
children are sold by some agencies to foreigners for huge sums of money. The agencies
source children from poor sections of society illegally.

Courses of actions:

() A committee should be constituted to ook into this matter.

(1 A law should be enacted to make it mandatory for all nursing homesand hospitalsto
record births and deaths and to admit abandoned children in specified homes.

(111) Adoption by foreigners should be completely banned.

(1) onlylandll (2) onlyllandlll

(3) onlylandlll (4) 1 andlll

©IBI0 1 Boer$oBA WIE Jokw H0d KodEer VYOD SEE BT 0LrIE I

S3008, §Q) éo(@ow ©HE I080 ©F0D DO BB OE @500 B0 )00, H0P0S

DET0 $¢ $o0d & Bogen Dy Tl Blyamon.

SpfepiqnTet=1o0

(1) & DA HI0TEA8 28 Hodrd) Joomd.

(1) Q) $9)oAIFous S, sdodEhod Sr ads, SHdrod PR o SIrdd Boired
28 HrANBI7, ¢ DI Y Ferodiros Horod Jgoowd.

(1) JB3SwT 88 Hrom Judowrd

(1) 1,1 S0
(2) 11, 11 S8
(3) 1,1 $&o

4 1,11
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Although strict vigilance by the police has brought down therate of night crimes, daylight
robberies and chain-snatching etc have only increased.

Courses of action:

()  Thepoliceshould be asked to stop its vigilance programme during nights.

(1)  Thepoliceshould begiven powerstokill criminalsinvolvedin daylight robberiesand
chain-snatching.

(111) The police should be directed to reorient its strategy so that daylight crimes are not

ignored.
(1) landll (2) onlylll
(3) onlyl (4) Nandlll

SEEEg0 PG A orgo° Tr@ITPe0 SHOWEDAT®, HED e Sn&en, Fends SoldIen
SATT0 ABYD ©YHBII)0w

(I) T@HHs" S8 e JeoYde BaSrd.

(1) HdKe0 Sndes, Fedd Foldarer B JEOK BoD WPS G0 SEESTIETTO.
(1) HKB3¢ Soren & DowEoE G0k SEEST L0 e CE8 Fareod widzomd.
@ 1 2) 1l s

3) | sm&3 @) 1,0

173.

P11

The bank employees have decided to go on astrike again.

() Theemployeesdemands should be accepted

(1) Theemployeesgoing on strike should be sacked

(111) Thedemands made by the empl oyees should be sympathetically considered.
(1) Tlorll (2) lorlll

(3) Horlll (4) Onlylll

g0 w&gHHen Ho§) R0y BoSred oo .

(I) edghe &3rogd ©@ohigdowrd

(1) 33y 38 &dghod SFohowrd

() &&ghe dIrogs FIsdgyrdtson HoKdowmd
1D 18zl 2 18Il
3 Nzl (4) Nl S>30
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Candidateswho appeared for an examination are agitating that several questionsare out of
syllabus.

() A committee may be constituted to |ook into the matter.
(1) Theexamination may be cancelled.
(111) Reexamination may be conducted if the committee recommends so.

(1 | (2 |
(3) landll (4) landlll

2oaRS" B wror PHo HBES” Sanod ITgiies BolES BhyI.
(1) & DR wEgoRso VoHTAE &8 S dcfAdoowto

(1) 9685 8 Sosdo

(1) 820& Jordy 80H HOE Jerobto

(1) | 2 |

(3) 1508080 Il (4) 1%08050 111

175.

P11

Many students of the school fell ill for thefourth timeinarow inthelast six months after
consuming food prepared by the school canteen.

()  School management should immediately terminate the contract of the canteen and
ask for compensation.

(1) The school management should advise all the students not to eat food articlesfrom

the canteen.
(111) Theowner of the canteen should immediately be arrested for negligence.
(1) onlyll (2) onlylll
(3) onlylandll (4) onlyllandlll

FETO 57508RS A o 8 {8 BHIVY 570G IHJIMT TFHTE & FET
RIS ISR 08 @asrgd.

(I) d7eo dSradrdgo o 575080 sToErsy $& B, SJHBIT*So §0°d

(1) 550835 es55¢ DT BIIEI FETO 30568006563 SRRV )

(1) 575088 BradrId @8 JFE s°Evom @BYY BASrd

(1) N S (2) Nl S>30

) 1,183 (4) 1,1 S8
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176. The number of dropouts from the municipal schools has significantly increased after the

withdrawal of mid-day meal scheme.
()  TheGovernment should reconsider itsdecision of withdrawal of mid-day meal scheme.
(1) The Governmentt should close down some of the municipal schools.

(111) The Government should carry out adetailed study to find out the reasons for school
dropouts.

L n (2) onlyl

(3) onlylandlll (4) onlyllandlll

$ergim) F'ed HE5Q) IEMN0WES) $o°td S0AVIS FETS W) SRS 50
Sopg Keadooom dA0B.

(1) Sogrgsdm 5P D68 I Hehdto JSTSES BaSrd

(1) & 5028 FéTeod Hehd0 DI

(1) dergsyes BPITrIo0erIs Ko sderols Hehdio H08doT O

(1) 1 S0 (2) | S0

(3) 1,1 S350 4 1,11 S g3

Q. 177 - 180 Directions:

In each of the following questions a statement is given followed by two courses of action.
A, B courseof action istaken for improvement. Read the statement carefully and give answer as
below:

(1)
(I
(11)
(v)
(V)

if only course of action A follows

if only course of action B follows

if either course of action A or B follows

if both courses of action A and B follow

if neither course of action A nor B follows

©Heo 177-180 SoesSen:
B8 DPHS'Er 2.8 PIBIS0r D o A, B o8 K800 Boh srorgidmedn ©H8&rHowrd.
S0 Tegd DEMTO. A FEET HSTTR) S6D s 8§0d Do 1Id.

(1)
(I
(1)
(V)
(V)

P11

sorgisder A SrER ©oddomreod

sorgisder B Sr@i wdoddomreod
sorgisder ABo B ododdbomreod
sorgiideen, A, B o Bodr 9ddomreod
sorgisder AR, B 5 efoddolsrddssod
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Statement: Increasing levelsof air pollution iscreating health hazardsfor peoplelivingin
the cities.

Courses of action:
(A) All industries should be shifted to the outskirts of the cities.

(B) Transport authorities should take stepsfor converting all public transport vehiclesto
runon CNG

PdWSo:

T30 TreNlg NG $o SKTS! JFVBD) Peody ebtiy dodger SBSYETow.
5 orgusSen:

(A) o) goyrorody S8 3rdes™s E8dowd

(B) oQ) darer> oo CNG & S8 e 0fsedhan Hdgen BHerd
(1) | 2 1
(3 M (4) NV

178.

P11

Statement : Despite good economic progress of the country, significant number of
undernourished children has been observed in therural parts of the country.

Courses of action:

(A) Govt should increase Wealth Tax/Income Tax and use that money for upliftment of
thedeprived class.

(B) Govt shouldintroduce schemeslikefreemealsin primary schoolsand make primary
education compul sory.

SESo:

B0 $00 ©¥ HENRS FHoAT, (MM (Foe Y, VOB Fledd Srdor Ko

Sopge* DYeR0ELo KHJowrd.

5 orgeden !

(A) ©ahdto e3hly) / emaRoddy) Dod, Sagor $T) dagydo wamdd S5H8 Kao
Q8o GIRBrAoTO

(B) @20 rgns ETod &8 Fiad HE8o HIFTHYLWo, (PEE g oo
B0 o3 HEso8 T T

1 Vv 2 Vv

(3 4
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Statement: A university librarian reported increased cases of theft of booksfromthelibrary.

Courses of action:

(A) Stricter security arrangements should be put in placein order to prevent suchincidents.

(B) All thestudentsintheuniversity should be madeto pay ahefty finein order to replace
the lost books.

PdWSo:

08 DTN Forredirds d Homreaod® PHIsTe 0 wBR0E I3doT k.

S orgusSean:

(A) werol dodotoden udrom $H0od NS JAdr bc‘bg&) 36&{;@

(B) &Fond Hisre F0s” §E 578 Fodirds wodd dorgdie $o0d I8 Sm
285rT 260D Sdrwd BT |

Q) 2 |l 3) | (4) V

180.

Statement : At least five students were killed due to a stampede in one city school asthe
studentstried to leave the school building, fearing short circuit.

Courses of action:

(A) Theprincipal of the school should be arrested immediately.

(B) The Govt should immediately order closure of the school permanently.

PdWSo:

28 368 TFETOS” g, e I8 Fodd 2OAS (FE VT LS’ EAB0 wddihd dargdhed
308 Fomd.

S orgusSeaon:

(A) © FéTo RYPFSH oI @B VA

(B) & rérodH iidgomr Srdlcired ©ehdto I0L3 eB30wd

(1) | 2 |l (3) 4 N

181.

P11

Two positionsof diceare shown below. The number of pointsthat appear ontheface opposite
to the face containing 5 pointsis

Boch TN 808 JFom am)on. ROWIST D DodPHew Ko H0grds dhdm &d)
0o Ko Doddeo éospg

(1 3 (2 1 (3 2 (4) 4
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P has arrived at 3:30 pm, 40 minutes later than Q. Q was present 15 minutes before the
scheduled time of the meeting. The meeting was scheduled at

(1) 255pm (2) 3:00pm

(3) 3:05pm (4) 3:10pm

Q8% 40 ddren wodgomr ar. 3.30 d.of PIFHS. g8 d8005rd 808 15 ddTre
$5008 Q BHEFIS. ©HB Jd50r3d doaso

() . 255 (2) . 3:.00

(3) . 3:05 (4 2. 310

183.

If xyz represents anumber written in the decimal system, then the suitable value of xinthe
equation 5x2+2x5 = 887 is

$7°057508° w8 Dopgd XyZ SrHd, JDo¥dwo 5x2+2x5 = 887 &° H0FSD X Jewd
(1) 6 (2) 7 (3) 8 4) 9

184.

Themirrorimageof TERMINATEIs
TERMINATE &3x08), 88yeo ©880e00

(1) TIAMIMATA (2) ITAUWET

(3) JTAIIMAT (4) ETAVIMSET

185.

Thenumber of trianglesinthegivenfigureis
QYS HLoS" (@ehare Jopg

(1) 12 (2) 18 3 22 (4) 26
186. Yard: Inch:: Quart :

(1) Gdlon (2) Ounce (3) Milk (4) Liquid

K230 : ®o¥o S"ogg:

(1) g (2) Ty (3) &rewn (4) %o
187. 11:123:: 23

(1) 531 (2) 529 (3) 527 (4) 523
P11 43-A
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A, B, C,D and E aresitting on abench. A issitting next to B, Cissitting next to D, D isnot
sitting with Ewhoison theleft end of the bench. Cison the second position fromtheright.
Aistotheright of B and E. A and C are sitting together. Then the persons on either side of
Aae

A,B,C,D,Eeo a8 00 §rda). Bg) S A, D)8 CErdyos, D, ES® §r8)3ck,
E 2005 8% @otHhd srdyanh. 839 ok Bo& @(;2606“ C, B, Eo $&8)S
Aodm, A, Ceo 892 Erdyand. @dyd A8 a839e &d) Sgigen

(1) B,D (20 B,C (3) ED (4 CE
189. Inthefigure below the number in the blank space IS
808 BLod* oo S Bowg
5 4 7 8
6 9 5 1
3 7 2 ?
1 1 (2) 4 (3 3 (4) 6
190. Inthefigure below, the number that fitsat the symbol * 7 is

808 Her0&® MK ? S BBFSH owg

18 24 18
12\/30 16\/40 45\/ 27
6 8 ?
(1) 18 (2 12 3) 9 (4) 6

191.

P11

Inthefigure below, the number that should be at the symbol * 7 is
B0 Deoe®, N8y 2 HF wodSDS Doy

4 8 0
O O O
7 4 2
1) 0 2) 2 (3) 11 4) 12
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192. Inthefigure below, the number at the symbol * 7 is
Bod Do, K&y 7S¢ dowg

N

&

(1) 64
(3) 169

Czo

&

FRESHERS NOW
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N
D

(2) 144
(4) 25

A

193. Inthefigurebelow, the number that fitsat ‘7 is
808 He0&*, K&y ? ¢ BOFD Doy

7 4 5
8 7 6
3 3 ?
29 19 31

(1) 3

(3) 4

(2) 5
(4 6

194. Inthefigure below, the number that should be at the symbol ‘7 is

B0d H0eS® K&y 77 S woLHODS Howg

4 5 6
2 3 7
1 8 3
21 08 ?
(1) 94 (2) 76
(3) 16 (4) 73
P11 45-A
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195. Thenumber of trianglesinthe givenfigure below
& 808 DS Bhare dowg

(1) 18 (2) 20
(3) 24 (4) 27

196. Thecorrect choicefor *? infigure A from figure B.
He0 AS™ K8y 77 & Heoo B S $8Bo8s

VA< > DD KK

(A) (B () (D) | I 1l v Vv

(1) | 2 |
(3) 4 N

197. The correct choicefor ?in figure A from figure B.

H0 A ST K8y ? 8 Do B ST H8RoSs

JANRVAIVAR ANAVAIARRVAIS

1 1 (2 |
(3 (4) NV

P11 46-A
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If the digits of the number 5726489 are arranged in ascending order, the number of digits
that remain at the same positionis

(1) none (2) one
(3) two (4) three

5726489 &' @088 88 TrnEos’ ovy 378 J0de FITTS o8 ®osw dopg
(1) 2089 (2) =88

(3) Qo (4) Sowcko

199.

In the number 3276158, if the digits were arranged in ascending order, the digit in the
ten-thousands placeis

Sopg 3276158 5°Q wos0d 88 Eiod’ odd ST dopgs® HBIw @q;:éoeS‘é ©038
1 1 (2 2
3 3 (4) 4

200.

P11

Thedigit that should come next in the number sequenceis
987654321876543217654321

HogrgoEsoo 987654321876543217654321° oobodd $078 ©o3
(O 9 (2) 8
3) 7 (4) 6
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